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1. Suppose Canon Inc. decided to invest 45 billion yea in developing and launching & new model of its digital camers, expocting
that it will bring additional sales of 60 billion yen. The company hes already imvested 38 billion yen when the marketing
department suddenly finds out that the iatroduction of & similar camera by Sony will reduce Canon's expected ndditional sales
to 30 billion yen, The comprny's MmENEgEmMEnt is rying to decide whether to continue fnvesting in the new product or close the
project. Carton hires you as an econnmic consultant. Se, think like an st to help the company's make their
decision:

Al Atthis point in time, Canon's marginel cost of introducing the new product is (13 biliion yen.

b} Canon's margine! benefit from introducing the new product i (2] billion yex.

] Will you advise Canon to finish the project and introduce the new product? & poi; .

Sarab and her boyfriend Mike wunt to save some money to pey for their wedding. So they decided to help people in the
neighborhood by cleaning their garages and mowing lawns. Sarah mices 60 minutes to clean & garage and 80 minutes to mow a
lawn. Mike takes B0 minutes to clean o garage anc 80 minutes to mow a lewn, Sarah and Mike devote 10 haurs per week each
o these Retivitios and get paid $25 for each gurage they clean and $23 for each lawn they mow,

aj Sarah's opportunity costs in cleaning gariges is IC] dollars,

k) (5) (ane point] has a comparative advaniage in cleaning garzges.

3. The wble below shows the demand and supply schedules for Gas i Dryland, 4 subsidy on gas of §10 per gallon is proposed

and the government asks rou to examine the effects of the subsidy.

ra

Price Q]\Iar.:i‘.y damhn.nded Quantity supplied
[l {millions of gallons per  (millions of galions per
idol allon
{dollars per gallom) year) year)

10 320 1
20 240 4
30 160 80
40 8O 160
50 1] 240

a) With the subsidy, the price thal consumers pay is {61  the price that sellers receive is (M _,and__ (8)
—zallons of gus ere sold,

b} With the subsidy, the marpinal social benefit from gas is (3 and the marginal social cost of gas is an .

€) And dead weight loss for the whole ECOnomy is 11 2

. One year agn, Ms. Case and Mr, Boad opened a book store called C&B Bookstore, They invested $1,000,000 of their savings
into the partmership to buy equipment and initiel inventory, They rented u building for $90,000 2 year, and hired two
employees for an annue) wage of 40,000 each, Case and Bond believed that the best alternative investment of their money
would be government bonds, which could ield en annual returs of § percent. To run the store, Case quit her previous job, at
which she earned $100,000, but her former boss told her that she was welcome to return anytime. Bond kept his job with the
BOVErnmEN, but gave up 6 howrs of leisurs ench weelk {for 50 weeks), the time he used to spend playing gelf. Bond used to say;
"¢ only give up my golf time if someone paid me 5100 an hour." During the first year of operation, C&B paid $20,000 for
utilities and the firm's total revenue was $350,000. The market value of C&B 's equipment was $200,000 ar the beginning of
the year and $170,000 at the end of the year.

u} The explicit costs of C&B Bookstore is (13}, and implicit costs is (13 .
b} The econemic depreciation of their capital is a6
<) The firm's economie profit in the first veir of operation is 1 :

5. Amna's Farm produces and sells milk The market for milke is perfectly competitive. The marke: price of milk is $2.50 per
gallon. The relationship berween the farm's output and total costs is shown in the table below, Use these given information 1o
calculate Azna's average variable, wverage total, and marginal cost and try to draw those curves, Afler you done that, use those
“urves to answer the fullowing questions:

Quantity Total cost
(gallons per day) (dollars per day,

Q 400
100 703
200 BEQ
300 1,008
400 1,160
500 Laln
600 1,840

a) It Anna maximizes her profit, her output is (16) . Under that output, ker profit/less would be an .
b) If the market price is equal o (18)  Anna will shut down her production.

P61 10206

e



TEAR 102 BEERRR RIH BesHEs

EEREEEEE il SR

ROAIR ) .
ENCD) hionine L5 - #A R A& 2 A% 3 H

@ F T TF it L

6. Nimbus, Inc, and Clean, Inc, are the only producers of flying brooms. Each firm has two strategies: Spend 30,000 dollars a
year on research and development (R&D; or spend nothing on RéD. If neither firm spends on RéD, Nimbus® economic profit
is 80, 0G0 dollars and Clean's economic prafit is 40,000 dollars. If each firm conducts R&D, market shares are muintained, but
each fiem's profit is lower by the amount speat on R&D. If Nimbus conducts R&D and Clean does not, Nimbus makes an
economic profit of 120,000 dollars, while Clean incurs an cconomic loss of 20,000 dollars, If Clean Inc. con-ducts R&D and
Nimbus does not, Cleans Ine, makes a profit of §0,000 dollars while Nimbus loses 10,000 dollars.

1] In the Nash equilibrium, Nimbus, Inc., will get {19 profit and Clean, [nc., vn]lget (200 profit.

7. The table below shows costs, private bcncﬁt.s of students, and social benefits arising from college education, There is no

govemnment involvement and the schools arg competitive,

Enroliment Marginal social cost  Marginal private benefit Margine] external benefit
{(millions of students (tiousands of dollers per (thousands of dollers per (thousands of dallars per
per year) student per vear) student per year] student per year)

4 4 16 8

] [ 1 7

12 8 12 4

16 10 il 5

20 12 ] 4

24 14 [ 3

a) The market equilibrium enrollment is (21} and the tuition is (22 R

&) Considering social benefit of education to the whole society, the efficient level of enrallment is {23) . Hence,
tae deadweight loss of the competitive market is (24
c) If the govemnment provides the efficient ameunt of educa‘lon of the total tuition paid by a student, the government

pay. (25)  and & student pay. 26)

II. Macroeconomics (50 points):
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1. According to the light signels anncunced by Council for Economic Planning and Development {4 2 4) based on menitoring
indicator for Taiwan economy, the light colors from Nevember, 2011, to August, 2012, are all blue (incredibly 10-succession
blues). Afterwards, the color has turned inta vellow-hlue for months (at least, till November) in the end of 2012, which meant
that Taiwan economy, for thet time, wes {27} fa) Only fust wnder recession; () Only fust recovering from the
receszion; (o] About ta fall into recession; (d) About to be averheated; (ef A Hitle it cool down from overheated,

2. In wddition to light signals, Counml for Econum.lc P'anumg anﬂ Develnpmem also regularly announces the composite

indicators for Taiwan luding leadin, and lagging indicators. As for the
respective component series, which of the fnJ.lumu,g items should be classified a5 a “lagging” indicator?, (28} (a) Stock
prices index; () Unemploymen: rate; (o) Indusivial production index; (d) Electric powsr consumption; (e) Monetary
aggregaie (M),
Adter the serious impact of 2008 glebal financial crisis, the U.S. nuthﬂ"].ms conducted the well: knmm “{Juantitative Basing
Policy”, which called QE!, QE2, and even GE3 (just n 13 8. her 2012) ', these are
nething but expensionary monetary policies under the circumstances \.\he.u (29} approaches the “zera lower bound”. (@)
Federal funds rate; (b Corporate bond rate; (¢) Diveount rate; (d) [0-pear treavury bound rate; {e)Mortgage loan rate.

- By definition, the “intermnel balance™ requires_ (30) _ {a) The balanced trade; (B Zero unemployment rate; (cf The full
empioymen: outpa (d) Zero inflation rate; (e) None of the abave.

. Which of the following eusrency have the “largest” ahsolute value of currency nowadays?, (31 (ai New Taiwan Dollar;
(b Singogare Dollar; (c) Hong Kong Dollar; {d)TM.n’IandBakf. (&) Euro,

. If inflation is greater in Korea by 10% than it is in the rest of the world, then the puzchasing power parity (PPF) theory predicts

that the (32} {ai Korean won would appreciate; (&) Korean won would depreciate; {c) Korean won would remain

stable; (d) LLS, dollar would weaken, (&) Korean products must have real appreciation.

The so-called Okun's law is an empirically observed negative relationship between__ (331 a) Inflation rate and interest

rate; (b GDP and net exporis; (¢} Inflation rate and sxchangs rate; (d) Unemployment rate and real outpud gop: (e)

Ungmployment rate and job vacancy rate.

‘Which of the following account should be ineludsd in M, by the definition of Taiwan's central bank? ___ (34)  fa)

Demand saving deposit; () Forelgn currency deposiy; (o) Time depoyi; (d) Currency held by the public; () Mutwal find,

Which of the following situation may push the LM curve w e “lef™f____(38) (g} The invention of ATM or credit card:

(&) Expansionary monetary policy taken by central bank; (¢} An increase in the interest paid on checking account; (d) Tax cut;

(&) An expectation of higher inflation rate in the future

The well-known “Marshall-Lemer condition” describe the wade elasticity criteria of getting improvement of____{36)

through domestic currency devaluation. fa) Only exports; (5) Only imporis; {t) Entire trade balance; (d) Degree of inflation;

(&) Government budger,
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11 "European sovereign debt crisis” i3 one of the modern economic issues which caused widespread concern since 2009,
Especially, soversign debt ratings of several euro-zone countries have even been deeply downgraded by principal rating
sgencies (such as Moody's, S&P, Filch) mainly owing to their, {37 fa) High if rate; (B) High inflacion
rate; {c) High Debt/GDP ratio; {d) Vast amount of sovereign debi; (e) Law econamic growth rate

iZ.Given the average tax rate (1), domestic GDP (Y), and government expenditure (G). A general expression for the “hudget
surplus” is (38} (@) 16 =¥, (W)Y —1G,(c) Y = G [ (d) G—tY; (e) G-V,

13. Concretely speaking, the economic growth can be mensured by the yeurly growth rate of ___(39) . (o) Trade balance; (b}
Number of employed workers; (o) GDP | (d) Damestic investmrant: (&) Population,

14, Considering the balance of payment (BOP) [ 8%l £ 1% ), the exports or imports amount should be recorded into the {40}
= (8 Current account; {by Capital account; (o) Financial Account ;{d) official reserve wansections account; (e} None of the
above.

15 Bawdi Arabia sent petroleuss to Teiwan in exchange of U.S, dollars, In Taiwan, this will lead 1o, (40) . (&) No change tn
the current account; (b A merchandise trade deficit; (c) A balance of payments deficit; (d) A Financial account deficit; (e}
Mone of the above,

L6.r" the central bank finance the government deficit which is just resulted from the tax cut, all these measures together would
lead to (42} . (a) Right shift of botk 05 and LM curve ; (b} Right shift of enly LM curve; (o) Right shift af only IS curve!
(d) Right ahift af Lid curve but left shift of IS curve ; fe) Left shift of both I8 and LM curve

17.The Heng Keng Monetary Authority (HEMA) (%8 %8 F 808 declared “linked exchange rate regime” (i 4 B £ 4} is
adopted for the Hong Kong doliar/USD rates since 1983, Conceptunlly, “linked exchange rale” is most similer to the___ (43)
_exchange rate regime. (a) Pure floating | (b) Fixed; (z) Managed flaating; (d) Target zone; (e} Dual,

18.Which of the following measure should be viewed as & contractive manesary policy of central bank (or Fed)? {441 fa)
Pravide more high powered money; (b) Set higher required reserved ratin; (¢) Dacrease the discount rate; (d) Announce lower
Jaderal fund rave targes; (o) Perform the Quantitative Easing Policy.

19.What is “labor foree"( # # /7) of u certain country? It's defined as the number of___(45) ., {a) People looking for work, (b
Sodlesy Peaple; (c) The employed; (d) The sum of the employed and jobless peaple; (o) Whale population.

20 The fuctation of USD index (& A48 %) is quite crucial to the commadities prices ([ 4hibif #), because most of the
cammaodities are USD-denominated. Essentially, USD index is the (46)  of USD. {a) Nominal exchange rate; {4) Real
exchange rate, (=) Nominal effective exchange rate; (d) Real effictive exchange rate; (&) Forward exchange rate.
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Let's take a Jook at a small and simplified open economy model, whers C, [, G, X, M rep the e p 9
government spending, exports and unports of that sconemy, respectively, Among these variables, assumed that nvestment,

goverument spending and exports are all exogenous, namely [ = G =0 , mnd X = X, Besides, consumption end import
function cen e expressed as followed (Y denotes the domestic income):

C=C+c¥, M=M+m?,

Where C and M denose the autonomans consumption &nd imports, while ¢ and m represent the margine] propensity to
and impaort. Moreover, following inf ion is alsc given:

C=I=G=40, T=M =30, ¢=07,m=02.

1} According to tae above sewing, the equilibrium income (Y) should be (47 and the trade halance (TH=X-M)
should be ___ {481

b) Instead of exogenous design of exports end imports. This time, consider the influence of exchange rate on the wade
balance, Let E represent the real exchange rate {1 unit of domestic product can be converted into E units of foreign
products), hence the increase (decrease) in B impliss the real appreciation (depreciation) of that economy. More
concretely, exports and impans function are now replaced by;

X=X'-ul, M=M"+m¥++vE,

Where X' =40, M =20, u=v=20, and E=2 (Besides, all other settings are unchanged}, Therefare, the new equilibrivm
income (Y} should be 491 | and the corresponding trade balance (TB=X-M) should be, (50 .

&) Continued to the sub-question (o), assumed that purchasing power parity (FPP) finally holds. In other words, it means
that the economy showld experience u real depreciation, says, E decrease from 2 to 1. At that time, the economy
should have a {510 {A) Trade surplus; (B) Trade deficit; (C) Balanced trade.

[
c2
o
o]
(=2}
<3
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